FLUSH-MOUNT BRACKET KIT MTK-103AL

= DESCRIPTION

= T Flush-mount Installation Kit

M@ij = TECHNICAL INFORMATION
16 GA. 304 Stainless Steel Angle

127 Stainless Steel Lock Washers
Aluminum Anchors

< INCLUDED PARTS
#8-32 Screw
12” Height Adjusting Screw
#8 Lock Washer

1 #8-32 Standoff #4832 #8 #8-32

‘ Stainless Steel 12” Height Adjusting Screw

34 |
21 7/16 - B
11 3/16
[
e @ & %2
3
= NG top view
I = 1.1/2
b 10-32 Threaded Hole
Section view Top view
3/4 — |
16 15/16 . B
[
® ¢ | x2
© -
S 0 top view
NN 11/2
ol 0 10-32 Threaded Hole
Section view Top view

PROJECT INFORMATION

Project

Date / / QTY

Specifier

Contact

Note

Copyright 2021 Mila International, Inc. www.mila-international.com

S3IHOSSTDOIV





